


ol

@ y=x+2 @ y=-x-2

D y=x-2

1
@yzix—l

@ y=-x+2



4 f) = 2x-5 9 AGSEy = () S B, £1(-3) o S
Anfel7}?

@ -3 @ -1 @0 @1 ® 3



4.

x2-1 x—-2 x+2

o o] Al — =2 7ld s
el A x4+x2+1+x2—x+1 2txt+1 el
ax®> + bx+c 1 s _

5 Fo
m%nﬁ,%ﬁ“a, b, coﬂmo}‘-"% Cle-o’l %/\‘_(7
® -4 @ -2 ® 0 @ 2 ® 4



X

x2-4

x—2
x = o] At Ak
ﬂ+m4ﬂ a3t

1

[
1

a(x+2)?

(x+2)



6. F&F f(x)=3x+1, g(x) =4x+a°l Hot (go f)(x) = 12x+7
ol JHE i, A= a9 27

@® -3 @ -1 ®1 @ 3 ® 5






©
=

my
—_
N
H|
i
_I_
_I_
]
o
olo
[y
o
=y
o
~
~
—_—
N
=
[SY6)
I
PN
=
g
I ol
> U
tE
ol et
o ™

@ 3 ® 4 @ 5 ®7

D 2



N

| x=2]-1]+kol tistq] f(-1) =5 & Tt

@ 2 ® 3 @ 4 ® 5

D1



o, = a?
a’ +b* 9 =
=



11.

the Al 7hds] ohd m olth. a+ b9 FHE Fatolet. (&,

1 1

i) T aroe s T
1 1 1

T )10 G+ 6)(x+8)  (xt8)(x+10)




—_
1jo

100
101

101
100

9
100

®

100
99

@

98
99



® hog




& o, A< ko] B0

T flx) = 2x + 3, g(x)

—x+ kol st fog=gof 7}



15.

_ 1 _
@4 7 (TE) s xroguER g (B Hom

eI o) olgate] f(£(10)) ] kS Fotolat,

D L
=%




16. 34 f, g 7h ol 23t 2ol ol W, g =4 £ B WEA7]
4 h ol Tiskd h(2) o] 7he?

f g

X Y X Y
1 1 1 1
2 2 2 2
3 3 3 3
4 4 4 4



17. &= f(x) =2x -1 ot fOx) = ax+ b2t & W, a-b 2] F2?

(L f2=fof. . fr=f""ofolh)

@210_1 @210 @211_1
@211 @212_1



D1 @ 2 ® 3 @ 5 ® 11






x(x<0) —
20. ﬂm{ L 8(x) = Flx+ 4) 2 A h(x) = g (4)

x%(x > 0)

e @ ul, h(0) o g 7

O -4 @ -2 ® 0 @ 2 ® 4



o
=

el g(f71(=3)) ©I

S

x2+1 9 tf



f(x) =2x -5, g(x) = —6x +2 ° ot (ko f)(x) = g(x)

@ -3x+17 @ -3x-13

@ -3x ® -5x+10

® -3x+13



23. 18 % Qlele] A% o Uak] (fo fl(x) = +E TEFL T
f(x) 9] 1 me] g o Hudst AL

Y




@ 24

® 512



25.

x+2_x+3_x+4+x+5%7‘_}%6]6}@?
x+1 x+2 x+3 x+4

2(2x 4 5)

x+Dx+2)(x+3)(x+4)
2

(x+1D)(x+2)(x+3)(x+4)
2x

x+Dx+2)(x+3)(x+4)
2(x-1)

(x+1D)(x+2)(x+3)(x+4)
2(x—2)

+Dx+2)(x+3)(x+4)

®© ® ®© © ©




